Friendship Jr. High School
Accelerated Math Program

These
"fat jokes" are
really starting to
wear thin . . .

UNIT #10
Radicals

UNIT #11
Quadratic Functions & Equations

UNIT #12
Rational Expressions




Radicals
Lesson 1 0.1

SIMPLIFYING RADICALS
Simplity +he yadicals : He 50w
l® |9 “n" can be negahive, but “m”
o . | cannct be pegative .
The vadical (s per*Fed'
. Sgune Ja.5% = m> = (5 ]nlm {2m
g =\7 ' | Use absolute value hars o
\r—— ' protect +he Solotion.
2@  \J200 e Ja3bs mt
hse a tactor tree 4o ‘0"and b ace bo+h ;:ﬁue
determine prfme factors or both negative. ¥'m
x| coould be negare.
*+ |2.2:2:5.8 200 |
VAN .Ia353m"\' = C\,bmz\EB

+* ] 2 20 {0
)_3.5 . y
VAN AY No hars needed. “ab” and
* 2.5 2 0@ ®® “m*" are positive,

FeaEl d®

6. \ngal 2'5
3. - !20)(3 : . W COU\d bQ nega,ﬁve.,.“x”
4o “2" ave both poctive
ASSome'lfne radicand mos o€ both negative.
be positive. Can “x” be ,
negative ° | Jx34¥25 = (Ixylz*\x2
~JZEw =[2xBx]  “w'amd 'y" bath need
| N bacs becduse +they could
“x" cannot be negative (ov be npegative, M2*" |s

VBX wouvld be mmagwary), avto moticall y positive.
_|.._




Lesson 1 0.2

BASIC OPERATIONS

lY]ulntiplg) and simplity

o (NlG){z)

{18 = \2:3% = |3{R

20 (2{2)(3E)

6da = 6(3) =

{8

Add /subtract and simp\i@jf
28 43 + 35 -3z
Combine like ferme RE+E]

He 2JZ + 28 -5\22

Smehfy and combine
+he like terms

32+ W2 -2002 = [12{Z]

Distributve Propecty:
se 2z (26 - 2 i34)

oNiz ~ 648
2T -an3 = |

NFNEY

distribote, simphfy, and
Com bine like tTerms

Lesson 10.3 .

RATIONALIZE & SIMPLIFY
In Simp\i‘ﬁed ‘Fo\rm) “+heve

con be po vadicals n the
de nominator of a Fraction,

Rationalize and simplify :
> 203 |

No

mUH‘I'p@ bj '\j\[':——Z"'

EE’JC_:_%\]E:@\E:E
Ve V6 o 6

20 33
J3-3
moltiply by the conjugade

2, (T4 . 3@+

E-3 Jz3+3 2-9
Q+C\E_'3+5\§-:—-§f§\r§l
-b -2 | 2.
30 26
A EN

mu iy by the cOnjuga+e :

26 H—2 _3le-208 _|el6-6k

HHT 403 7 -3 13
__2_




LI-.\E:}-J:—\I;;‘_——

Simplify and ratonal e,

2\1—6)— + _\E._ —_— -\I—g- .‘1._5_'. = \Y._E;.-
Nz z 7 2

| NG Common denom-
2% + 5 gdoe is 2

.5 - [
2 ya Z

Lesson 1 0-4

CALCULATING SQ. ROOTS

Ca\cQ ote o Vio:
|'® (465

21.5 ¢
J4 65,00 00

{0rGE

|
4w2EBla400

2125

H30[E)) 77500
258 26

21.56 = |21.6

2@ (170

M1 .32 5 x 4|
J 1710, 00 00 |

2.4 b9
826l 4 3100

41325

Lesson 10-5
INTERPOLATING SQ. ROOTS
Inter po\oﬁe_ using the

vaxe voot foble (ge.e
25
3= \ﬂ‘e?q
|1§_§ 12 o
2@ (432 3\= 96l ?2,
Jqg2. (63
32-’—\1102'1-
ERREE




Lesson 1 0.6

RADICAL EQUATIONS check: check?
- 20228  2HRE) %8 =¥
Solve and check: 2202)-6=8 2{z209-8 =8
2Nt = 8 2Vle = 8
& Ix =5 3=8 V g =g
Square each side of the -
equation. | Ho J3n +4 = |
® \3n +4 =
WRY =Y check:
X=5 ~ Isolae +he radical. Tf +he
X =25 \5=5 radical is equal o a negative
5=5 V Value, there are no real
solutions.
| 3n. = =3
20 [3n+l -2 =2 B
. | no real
ISola‘\-e' +he mdical, square selotons
both sides,and sohwe,
\]?Dn""l =4 check:
Zn+l =1k V25| -2 =2 e *J”‘l_"‘ n-2
3= S {lg-2=2 Square both sides, fador:
-2 =2 ' 2 -
n=5 ez Vv n—a=(n—1)r
N-2=2 N*=4n +4
O =n*—-5n+6
20 2\2n*-8 =8 (n-3)(h-2)=0
Tsolate the mdical , Squave n=3,2
both sides, and solve.
JZm_g =4 | check:
. | | {@-2 = (-2
2‘7‘1"8:”" Be Sure."l'o = | \/A
2n%t= 24 nse *x
n* =12 J@=2= )-2
n= =0z = [E2F] o=0V




6O S \x+27 = X+2

l®

Tsolate +he rodical. Square
both sides, Faclon

X427 =%x=3 eheck:
X+aT= -3y  Sr@mT=hr2
K+2Ts Rextd  SFNEE =1

= Vv

O = x*-7% —18

(x-AY)(x+2) = O Byt = )42

Q = 5+{35 =0
5+5=0
lo=0

x=9 -2 does naf
check

Lesson 1 0.7
THE DISTANCE FORMULA
Solve using the Py thagorean
Theorem :9 E o
%

w*+ 120 = 3%

= H4d = 169
Rm| /3w x* = AT

X =5m

20 (43)°+ Byz)*= x*

H&4+50 = x>
XZ = qg £
x = \{ag ?
—_ [
x= WNzZm e
Note s Only pasitive valves

need be consideyed.

3@ Tdentify common

Pythagorean friples.
3-4-5

Ay moltiples
5-12-13  of these
g5 -7 Qe also valid

Ry thagorean
T-24-25  $riples.

The Dis’rw_nce Formula, -

Distance betuueen (54,)9.)
anad Cx.z) 2_-)

d = \lCX;-‘-?‘-z)z')' (‘_’)F"j:)l_

He Use the Formul to fnd
the distance between
L (2,6) and £8,10)

d= J((-z)—c-a>)‘+ (eH10y*

A= @)% +H>
A=\t =\(52
d=[2N13




Theorewm

and (%,10)

e e Puthag orean
us %eqtédg’r%ermine

dictance between (4, 2)

I—L—1 .l
| |||_

Tt Yo '%rge‘\' +he o\-{shnce
formula, Jov can always

use the theotem. oo

con use eitheyr me +hod

10 che_ck +he. other.

A

1 0 N 1 Problems

SIMPLIFYING RADICALS
Simplify +he radicals

® Jz6
D 4
©ORSEY
@ ot
®x{q
© i6-

@\r%_"

® T
@ =
® %
® g
@ %0
® iso
(4 —\162-
® zn
20%
@ J4on?
1203
@ (750t
€9 {e0ap
@ {ign*>
@ 54 x*

5000000 0HNCOBRRRBRC
5

O
O
;)
o
N

o
%
(c

U

N Y
x| o
F Ww
(¢l ©
] w

&G: L

F &
s

i
p-F
o

M

ﬂ ﬂ
3 X
3 «
v 4

o0
O

qu
(<

w

44 nPm
a3b3c>

4,53
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x
=
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=
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w
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1 0-2 Problems o 1 0-3 Problems ‘

BASIC OPERATIONS (x + -) RATIONALIZE & SIMPLIFY
Calcv laje an\.Sme)!’P3 : Simplify Gnd vahonalize :
O (=) (F) O -1 |
@ (B)NT) & BN
A TeIWD) [ ¢ @ @ B
@ (B W3) | z o B
® {2 (2 +\f§) ©) ?_:_{_5‘_ ©® JE
© B E- Nz 55
@ 242 + {ig |
® 1z -2
@ 250 -2{32 .
3{27 - 548
W 2328 - g63

@ 207 (245 - %)
® 23 (1B +al@)
@ 2= -202 + ayo
® 23 +afg -3{3

Review .
Simehvfy ecach radial

@ -3t ® (e

@ \llzasb?‘c" @) j P!
b 5
=Jzon®m? ? y




10.4...c..

CALCULATING SQ. ROOTS
@alcula‘f‘e to Yio:

EE

N
o

N
o>

292 Hi

O ®
@ ® {20
© ©

=

@ Simpiify JB2a*b*
Simphify ZH 39322
@ 4Vz (Vg -3J18)

o @ 2=
2-\3 -2

1 0 -5 Proﬁlems

INTERPOLATING SQ. ROOTS -

© 3 ® Jz75%
@ e ©@ {371
® J1H19 @ s0a
®z @ J’7

SQUARES
& SQUARE ROOTS

Nt vN N N vN

1 1.000 51 2601 7.141
4 1.414 52 | 2704 | 7.210
91 1.732 53 2809 7.280
16 | 2.000 54 | 2916 | 7.348
25 | 2,236 55 3025 7.416

36 | 2.449 56 | 2136 | 7.483
49 | 2,646 57 | 3249 7.550
64 | 2828 58 | 3364 | 7.816
€1 { 3.000 59 | 3481 7.681
10 100 | 3.162 60 | 3600 | 7.746

1 121 | a7 61 7 7.810
12 144 | 3.454 62 | 3844 | 7.874
13 169 | 3.606 63 | 3969 | 7.937
14 186 | 3.742 64 | 4096 | 8.000
15 225 | 3.873 65 | 4225 | 8.0682

16 256 | 4.000 66 | 4356 | 8.124
7 289 | 4.123 67 | 4489 | 8.185
18 324 | 4.243 68 | 4624 | 8.246
19 361 | 4.359 6% | 4763 8,307
20 400 | 4.472 70 | 4900 | 8.367

VAN naw=|Z

n 441 | 4.583 Al 5041 8.426
22 484 | 4.690 72 | 5184 | 8,483
23 529 | 4.79%6 73 | 5329 | 8.544
24 576 | 4.899 74| 5476 | 8.602
| B 625 { 5.000 75 | 5625 ] 8.660

% 676 | 5.099 76 | 5776 | 8.718
27 729 | 5.196 77 | 5929 &.775
n 784 | 5.292 78 | 6084 | 8.832
29 841 1 5,385 79 | 6241 8.a88
30 900 | 5.477 80 ] 6400 | 8.944

n 961 | 5.568 ||. 81 6561 9.000
32 | 1024 | 5.657 82 | 6724 | 9.055
3 1089 | 5.745 B2 | 6889 | 9.110
M4 1156 | 5.831 B4 [ 7056 | 9.165
s 1225 | 5916 85 7225 | 9.220

3 | 1296 | 6.000 B6 | 7396 | 9.274
7 1369 | 6.083 87 | 7569 | 9.327
1 as 444 | 6.164 88 | 7744 | 9.38)
39 | 1521 | 6.245 89 | 7821 9.434
40 1600 | 6.325 90 | 8100 | 9.487

41 1681 | 6.403 9 | 8281 9,539
42 1764 | 6.481 92 | 8464 | 9,592
43 1849 | 6.557 93 | 8649 | 9.644
44 1936 { 6.633 94 | 8836 | 9.695
45 | 2025 | 6.708 95 | 9025 | 9.747

46 | 2116 | 6.762 9% | 9216 | 9.798
47 | 2209 | 6.856 || 97 | 9409 | 9.849
48 | 2304 | 6.928 98 | 9604 | 9.899
49 | 240 7.000 99 § 9801 9.950
$0 | 2500 | 7.071 |[ 100 | 10000 | 10.000

Review (Simphify / Calculate)
@ Enimopr @ (RSB
@ 203 (n-fk) @ NZ-403(B
® sr @iz ® F

2-2{2

Calev loke 4o Yo \112-50

_%-—.




1 0! 6 Problems 1 0 n 7 Problems

RADICALS IN EQUATIONS - THE DISTANCE FORMULA
Solve and check - Solve 79h3m3 +he Pythag~
@ =7 © otz =1 orean Theofem

0, 6m ®
w ' m
@ \x+1=3 ®) y2n-5 +1 =6 B om|’

@ =x+7=5 @ Jn =3l @
® {n =0 @ 37 =c 8yl

® .. ch@ x:

Nz m . 8/m

@ 2J3m

X
Luzjxg'

Find +he distance between
these ftwo ponts: .

@ 4,2) and (4,17)
® (5,-) and (11,7
@ (1,-9) ond (4,-3)

Review
©® Mx -3 =3
@ n+In*-2n = 3In-4




@ Simphify \18a3b*cS
® 2{z (Ng -41{2)

@G\,—i —l\E'E-
B 32 ©_2
\EY ©-N3

@ Qlcvlate fo Yo et
Thterpolate \(5ao

Unit 10

REVIEW PROBLEMS

Simplity ‘f’hQSg’_ radicals :
— 180

® Jab3y¥z5

@ {200 n7'mé p*>
® 223 ><73_’L£4.
@ 12 a%b%c74d%
J20 wix®g> g7

@ {2229

Cal cu la+_e ond Si'mplfﬁj :
D (2Ve)3)
@ (EZ)YHIR)

® J3 6-3)

@ = (2300-32)
® alsg - 332 + {2
® 5 + 250 -2

@ oe - 4350
@ (5 - 3{20

Sl'r{npl'uﬁj and @ionadi2e -

@3z @ _ Iz
e @

2f ®.n-f
@27 B33 _3
J7-3 66—z W3
@z2E @ ale _23E
3-J2 -2 N3

Colcu lote +o Vio:

@) 541 J2607
Tnterpolate :

G (1,326




Unit 10

- Sdve and Check” |
@ ExFE = 6 SKILL CHECK
@ zp—7 =7 Simplify +hese mdicals:
® (Zar7 = n+t ® JFFbFce
@ (r-3n = n-5 @ VZFa%b5ced”
@ ax+a = x+3 |
C alcv late and Simplify

® Ve = ol ® 25 ({5 -313) ’
 Solve nsIng 'Hoe @ 27z - a8 - 0%

Py+hagoresn Theorem:

€)) :3;\5__3_&_ &) Simplify and @honalize
' i On-G

©® 216 @® 43 _ 208
.\S@-;\ 655 3

Find the distance: @ Caley late to Yo J24q
@ (1,-9) o (2,-3) | .InJrerpo\a:\-e {25a+

(6,-8) 4o (-2,-4)
| 5 olve and check

. ® JRTS = n+3
@ Ex+d = x+2

Conﬁnued



Solve using Hhe
P@-hag ofean Jheorem !

®) 3G _m

6z m

Find +he distance :
@ (-6,7) o (-2, 1))

Unit 10

REMEDIATION

Simplify these vadicals
@ V60x5 9 67 .
@ V27 a3 b5c"d?

~ Caleu late and simphify :
@& 3z (g + az)
@ 5 - 280 -3{45

SimP\Q‘F_«j_anti ratonalize : |

® 3le _ 3z
&z &

Calcvlote o Yio 2024
Tnterpolate 2644

1 KIND OF ENJOW IT WHEN
THERE'S NOTHING GO0D ON

Solve and check

@ Jio+x = x+4

@ (zn*d = n-2

Solve using +he
Pg +hagorean Theorem :

®) X

L]

Hz m 2Jz6 m

Find +he dishance
@ 4,71 4o (-4,-7)
...'2.—




Unit 10

EXTRA PRACTICE

Simplity !
D (232
® EF
NS
@ Vo5 >34z 25

~ Caleviate and S)mphFj
COMNE )G YD)
®o (26 - J3)
@ 28 -3V8 +\3z
@ 33 -275
Simphfy and rationalize :
@3z ‘
Vio

@zJé’

E-3
o -/

Caleviate 4o Mo
® s

Interpolate :

B V2467

& 203

- Solve and cneck :
©3p-q =3
@) Jn+5 = n+5
® Jn-z = n-4

Sowe wswg +he
Py¥hagovean Theovem:

@ ,_Z.\Em

ps
2o m

Find the distance :
(2,-8) (4,~12)

Simp\i’f\:—j y
J7Z aAb2c5ge

-3 e

LGN
(G, STRETCH
ARy Y




| @

20

' Quadratic Functions
¢ ‘Equations

Lesson 11.1

QUADRATIC FUNCTIONS

A quadratic Function
fits the form:

'3=o\.><1+bx+c

+or o #0 .

State whethevr the graph
of coch Funchion opens

apwand of doum waxd ¢
Y= Hox+ T Lupward
Y= -2x*4x+3  |downwadd

Note ' TF a >0, o0pening is
wpward,

AXLS ot ngme‘\'rj
-b

X = —

2 Q.

Find The equafrion. ot +he
axis of symmetry and The
Max Imom SF mnimom pont.
Graph the funchion.

20 = x*-6x +5

a = | b=-6 c=5

. _br
—
Axs = X= 3= = 2

A x\s of Sﬂmme'}'ﬂj:

Recavse a>0, the graph
opens ugw&-ﬁd. To Find ¥he
minimom point
= X-6x+5 M inymom
=)~ 6@+ point
=q~18+5
B: —l-l‘ C%} "4)
The graph forms Xy
a. pafaiola +hat 23
coun be sketched V| O
Hom o chart. )
X=2 7 Y=@-6@WS  y=-3

x=1 =7 g=Y~e0)¥8  9y=0
x=0 —7 y= O ~d)tS 9= 5

For each ovderad poiv in The
chart, there is a companion

pont on
+he oxis.

+he other side s

141 '[




ye y = -+ Ax+3
a==l b=2 ¢=3
Axis of symmetry
=3 7 i BT

Y= ¥ X +3 max imom
Y= =)0 +3 point
y=4 [,

.
1

Lesson 1 1 .2

QUADRATIC EQUATIONS

Tdentify as a quadeatic
founction or egquation:

|® W = 25% +3x +3 “FUYICHOH
2@ x*4Yx +5 =0 tequation)

Yyz-(n200)+3 y= 3
Y=-ENFAEDHE 4= O
215 Yy=- (—).)"4-'2 )42 Y= -5

$tate the roots

of each

equachion €rom +he graph
of 15 relted fupnchion :

ES"ﬁ—l- ) fz
, : ﬁH_
%
[ !l
(—-fa,O) (DJ o)
He I ce

fd ]
—

W,

-2,0)

no al rocts

Ic\en+'n°3 +he voots of a
quodratric equodion by
graghing the velated funchim:

6@ X*+2x—-3 =0

KIS

-b_ -2

- -
x_ ——

24 &

i

X =~

-

4

min, pT

mias 4

|
I Th i

Y= (-|)7‘+—;2(—|)-3 '

Y=-4

(—\,-4)

2,

%Y 5=(o)1+-1(o)-5 W==3
Oz g=™200-3 y=0
5 g=@*+23 y= 5

_14_.




@

Lesson 1 1 .3

COMPLETING THE SQUARE

Solve each equation by
Completing +he Squave:

x*+H4x+| =0

X+ =
N LR e i
(x+2)* =

x+r2n = =3

L S N Y

2m* =Gm +3 = -&

2m>= —9m =-3
m*> - m = -4
- _ B _ _ Al
™m %-M+TC— '++TE

g \*_ ~-bt% 8
(m-%)"= T+

2_ 47

(m-%)"= &

~a V= £¥47
%)= 5T

= Aax47

" 3

EY

e

—‘_J‘-_-q“"‘—&a +32 =0

or - 20+ =0

a* — %o =-12

o> -8B+l = -2+l
(a-H* =4

a-H = T2

o= HT 2 lCL=-7.OfC’T,

HOW PO «YOU
HEAR ICE CREAMTY!

M TAVES 109

Frbx +C = O
x* 4+ bx ;—C
X4 bx + %5.:__0'_%7__
(x+2)* : }T—‘ +-:brl
(ee2) -

b2_Hc
«+ 2 = T bxYc
. 2 2

o

w= b =% Jb*He

R




Lesson 1 1 .4 2@ Derivaiion ﬁf +he
rmula:

N
THE QUADRATIC FORMULA quadvatic
: oxr+bx +C =0

The guadyatic Formula 2, b - =<

- 2 %

can be used fo solve AR - ‘2 -

quad yahc equations: 4+ ?‘%x+%i - _ET"‘EZ‘-
- -b £ (b*-4ac +_§.)1’- br-tac

x4y 2 = + Jbx4ac

a=] b=-b c=-7 | lx: b x (or-tac
_ )T (-4 T 22
A= NEer- 400 C7) HeTry: ax*+Hox +b =0

2 C1)

x \—Cﬁ'- = (D-—-——;S = 3y

A= >
X = T or -1 Lesson 1 1 .5
USING THE DISCRIMINANT
st The V'o\dicaFtd oFI +he
T w*F_ax = = | vadvatic formula is
> 3 gaued +he discriminant..
P2 —bX +1 =0 — -
a=4 b=-6 C=| | Discriminant b*>4ac
- "'C"‘CD)“‘_: Y& ~ Y |
A= \\ZCC._)H A0 The nodure of the roots
is_detecmined by the valve
(= =0 _ oxal8 of +he discriminant,
® 3 : Tf b*Yac >0 —F 2 ceal roots
Y o TE b 4ac =0 —> | real roots
o+ TH P -Yac <0 —> O real nots

..'..‘b._.-'




use +he discrimnant to

determine +he nature of |

+he yoots
1@ 2%*—10x +11 =0
2_dac = HO=-4RU) =12

b*~4ac >0
2 veal voots | Trvatoral

20 YF-12x+9 =0

b*-Hac = H2*- )@Y =0
b* -4Hac =O
[ yeod yoot | Rational

20 25F + U422 =0

b*—dac = (H*-4ER) =-3
b%-4ac < 0 |

no Yeal voots

Lesson 1 1 .6

PROBLEM SOLVING

Graphing , completing +he.
squave ; and the quadvatic
Formyla can be used Fo

solve equations. Factoring

Can also be wsed.

Selve. +he equaton
factoring * °y

|®@ 2x*-1H4x-24=0
22 -18x +H% -24=0
2k (x-6) + H(x—6)=0
(x-6)(Bx+1)=0

x =6 or YA ‘

Met+hods of solving
quad ratic equodtions
1. Fad‘or‘mg *
2. Formola
3, Comple Hing The Square
4. Grophing

¥ ?acﬁw’mg wan onlj be
used on some Cno‘(“a!\)
quad ratic equotions,

Solve by +actoring

20 Find +wo in+ege,r£ whese.
som s —~l0 and whose
prodvct s 6.
X Two 'm+e9ers
~jo-X +not sum 1o —10




20 Find fwo mieoe

@ The len

X - xEo-x)=
%2+ 10X+ =0
A8 (x+2) =0

-2 | -3 K= "-8 o — A

S whose

difference s 4 and
w hase produc:i‘ is 21

X % (o) =2l
X+y X244 % =21 =0
=E] & 1—7)(><~3) =0
Bl[7] x=-T7Tov 3

Solve by

Com le+m9
the sqvare

of a recrangk
s 2in. less
Hhan 2 +Himes 115 width.
Find the d\menSmnS \F
+he areo, 13 HOWn*

3K = X (3x-2) = 40

Sclve using the foermula

5@ A vectangle has a per-

imeder ot 22 com oma\ an
area of & em? Find the
dimensions.

4 perimeter
2% +2Y = 22

pd .
X+Y =1
g Y= H =X
!
N
X = E‘ N
®*(N=%) =18
Hx—x*=I8
7(2—!_|X+\8=O
a=1 b=+l c¢=I8
v = ~CM E JEME-900%)
2C0) |

%= nt\r :,_%__qorl

4 by 2 om

o® A H bg) A fnch photograph

+its exacHy in a trame |
+Hat has an orea ofF 30 nZ
wWhat s the uniform
widt+h of +he Trame ?

Continued

_..\g'__




axHy

2%+ 9

'@

,®

(Qx+a) x+4)-H)49)=30
Uy +2bx% +3b =36 =30
Uyt +2bx -30 =0
2% +13x -15 =0

a=2 b=13 ¢=-I5

3 J03)® - 1 (215,

A=
Z2(2)

A

g = “3E289 _ 37

= 24"“7‘?

———

| inch wide

Lésson 1 1 .7

SUM & PRODUCT OF ROOTS

Ax2+bX +C =0

= Som of +he yoots

H

sle olg

product of +he oo

State the <u :
of the coots " and preduct

X*—7x +12=0  >om  prod
azy b=-7 ezl =T S=w
3x*-17x HO=0O som  pred
a=3 b=-17csl0 2=3 £=%

20 $5E+X{3+830 M
o=H b=z =% "Eb\-:%— %.:2-

Wrire a guadrahc equation
Cwith the given yoots «

He voots 3,-8

som i (3)+(-8)=-5 =5
prod t (3)EBY=-24 <=4
X2+ Bx-24 =0
5@ yoots :é— ,

-2
som: (2)+N=F b= E
prod: (F)(W)=2% <= F

2_23 412 =

XT-Tx+Z o

Note: In Final form )
guadratic equations shoold
have no frachons

voots 4§ |
som s (4+VB) +HH~IB)=8 b= ~8

prod: (pE)(H-Bx 1 = U
&

c®

conjugates
i =5 =\

X% -8x +11 =0




1 1 .1 Problems

QUADRATIC FUNCTIONS

Stote whether the draph
of each function opens
quard o downward:

® y= 3x*+9% - |

€ 3=—x"+x+l

@ Y= x> -
® Y= -Bx*+ix+2
® Y= -x*+y4x +5
Find the equation of +he

axis of sywmetry and
 Ahe maximum o Minimom
point:

@ y=x-4x+3

- ® Y= ~3x%-x+5
@ Y= Txt +14x -9
©® y=x*+6x+8
@ Y=ty Ext+3

@ g = x* +ax
® 9= -3x2+4
® 9 =-2ax*-9

Find +he equation of +he
axis of Symmetry , +he

Mmaximum & Minymom point,
and arcxph the function:

B) Y= x* -4 x -5

© 9= x*-3

@ y=-—x>+4x+5
Y= -3x*~bx ¥4
(D y=2x2+3

Q@) v = x*-2x-8

1 1 |2 Problems
QUADRATIC EQUATIONS .
Tdentify each of the
Pollowing as quadvutic
Foncrions o equations:

D x*=-%x-12=0
@ gy = x2-2x +2

© y = *x* -bx +4
@ ><2-'-}x.+|=0
® x*-lox = -2l
® 9= x -4




State +he roots of each
guad vatic equation from - n &J Problems

+he mph ot +he T‘e_la:}'ed
PRetc el gh ~ COMPLETING THE SQUARE

@ H ® i : Solve each equathion bt_l). |
Completing the squave:

Y +Hy+3 =0
n*+&snh +7=0
xF-Hx =

9> -89 =H
ta*-20-3 =0
2x*-1bx = 24
2xT-18%x +21 = O
bom-2b =

PR
llllll

ONOICRONCICACNS

Tdentify +he toots of eoch
equation by graphing the
re lated FuncFion': .
Solve btj completimg

A x*-10%=-21 | - +he square :
2-_; —

.@XZ"‘}'--‘O- @XZ‘J-L"X‘*‘C:O

@ %% 4+ Hx -3 =0 > bx+8 =0

D —x2 +2x +23 =0
B x*-2%x +2=0

Review
® -x*+6x -9 =0 VR

Indicate ¥ the graph
of each functiont opens
vpward or downwavrd:

W y=H* +12x +5
@ W= ~-oax*+3IX + 5

continved




Find *:i"he roots of each
CquaTion rap hin
+he rel a1~ec\9 Sc,hd%
State +he equation tor
the axis of symme

and The coordinate ot
+he Mmaximum OF mMn) mum
point -

Solve. by complehng +he

square:
@ —-2x*+8x +3 =3

__ HnZ4 20n +23 =0

(D ax® + 2ox +ab =0

@ ax*+ bx +3a =0

@ %24+6x+5=0

- More md‘lce completv
@ -2x*-8x-8=0 R v FeEmng

+he squave ©

@ 3x2+12ax +3b =0
@ ox*+abx + Ha =0

Ic\en‘\-'!ﬁz) as
vod e hic
Funchon oY equa‘hon

@5:3:& +5x —8

11.4:0e

THE QUADRATIC FORMULA

Use +he quad ratic formula
10 solye eqc,h equod-;on -

Note | Answers con be
checked using the formola,,

11.5,0n

USING THE DISCRIMINANT

Use the discriminant o
Find the nature of the voofs

@‘m +4Ym+3 = 0O () 22+82-5=0
@ y>-28=0 @ K*+GK +10=0
@ sa* =25 @ mz-14m +4a =0
® -nr-6n+3=0 ® 59‘-‘%3 +1 =0
@ K*-GXK+1=0 @dl‘*"'}d‘l‘—f-o
@ Yx*+8x-| =0 @D qu*>- 6y +l =
® - - X

..'-lj +163+i3_0 ‘ 36,2. Ye -l =




Review _
sowve by completimg the
Squoaxe :

2b*—b -4 =7
Rox” + Qabx + bac = o

®3

Use the formula to solve

2K*+ |\k =4 |
O\)«"-!-be +C =0

®e

Solve by gaphing +he
related F?mc‘hon :

-4 -1 =0
><’-+ Gx+0 =0

@@-

11.6 0

PROBLEM SOLVING (Area/Per)

Solve +he fwst eight |
prob lems by factoring:

O »2-8x+15 =0

® Find huid ntesers whose sum

15 12 and whose produd‘ s 42,

© Find fwo intecers whose sum 13
I7T and whos€ product is 72.

@ Find two wrfegers whose difF-
crence is b and whose.” proctuct
s 135,

® Fnd ’rwé |ﬂ1‘€3€f$ w hose

difference s & and whose
product is H4g.

Solve the next {our problems
by completing the squave:

@ _he Ierqqﬁ of a rectang
es Mmore -H'wm H-S
vuld . The area is 48 >
Find the dimensions.

®) TT)G width of a rectangle
is 2 feet less than i3 2
lengih. The area is B4 Fh
\:md +he dimensions.

@) The len é'Pn of o rectongle
is | wmeh less +han 3
+imes s, width. The area
s 24 in.t what are +he

dimensions 2

@ The length of o rectangle
s 3 mche..s less than
+wice S width, The

~ area is 35 in* Find the
cimensions.

Solve +he nex+ %ur

problems using e formula:

@ Find +he dimensions of a
recinngle with a penme'kar
of 3bem and an a@a of Ran*

_1% —_




@

®

A vectangle has a petimeter
of 26 in."and an areq of

262 Fnd the dimensions.

Dan bhas o rectangular

flowe rden méasurn
5 b r).%a ards, He pug

a sidewalk with an arca
of 74 3d:" avound the
garded, How wide is

 Fhe sidewalk %

D
@
©

<)
®
©

A squave painting That
measures S by 5 feet
is placed in a Frame

with an avrea of S
me, <

How wide is the -Q‘a

Review
Complete +he square :

oxr: +C = —bx

11.7 voens

SUM & PRODUCT OF ROOTS

Stade +he sum and
product of the roots:

a?2-Ba-24=0
b% +12b-28=0
Hy* +Hy +1=0
2n% +lin -20=0
a%+ Hol3+94=0
29"+ Yz ~6=0

Find a quad ratic equation
with +he given Yoots

@ ‘4,7 @ _‘g‘)-:l_s:' .

-@5)-51 @"—3)8
@ 3,2 ® &,
9 %

Review
Complete +he squale:

® The length of o rectangle
is 4o less Fhan 2 fives
s width, The afea is
32 em.? Find +he
dimensions.

Use the \%rméla :

©® A rectangular pictove is
2 by % . TFs fame
has~an area of €0 T
How wide is The Frome?

Graph +he funchon and
indicate +he axis ot

mmmeﬁrrg and the Mox=
iMmum o Minimum Loty

D -x*-6%x-10=0




Unit 11

REVIEW PROBLEMS

State whether the graph of
each guadratic FoncEion opens
vpword oV ownward:

B y= ~2x*-3x+H
@ y= 3x*+2x+ 5

Tdentify each of the tollow™
ing as a quao\ vatc foncetion

or eqouotion !
@ 2x*+x ~ 4 =0
®) Y=xT-2x~—3

For each guadratic equation
and s related functon, de-
Yermine +he axis QF_SSrnme'frg)
+he. maximum OF Mmiwmivm
pont, and the roots. Graph
each related Fonction:

B x3-8x +12 =0
@ ~%x%2-6%x-9=0
@ —><2-;;l><+8-‘-O
x*_-8x + 15 =0

Solve. bg) 'Fac+cgr'}n9:
@ x2-x-1a=0
xZ 7x +12 =0

M 2x*>-5x -3 =0
@ Ax%*+ RBx4+4=0

@ ax*+3 = 7x

So\vé by compietmghe yuare:

@ X%~ lox +32 =0

@ x*+6x +4 =0 ‘{

2x* 156 = =7x
@ x*4bx +C =0
B y*+2bx+4C =0

ve wirh the formolas
@ x4+ 16x +15 =0
@ xZ-38x =20
@ x> -1ax -l =0
@) sxt+Aqx +3 =0
@ ax* + bx +4b=0
@D ax*-3bx +C = O

Use +he diserimimanT o Fnd
+he natore of +he yoots:

@ 3)(27—8)&—‘-}0:0
29 2x> - §x +6=0

@) 7x*-0Lx +5 =0

‘fxz‘?}- 4x =I5




Stade +he Som and
product of the (oots!

&) Sx*Bx-3 =0
@) qx*+5x +| =0
@) ¥ -3xJ7 + 14 =0
@) 2-5x1z +18 =0

Write a quad mtic equation
with the given vootrs:

wiy MW

g5 2, -4
GO -2, 3
@ Vs, 305
G 23 , 313

 Solve uSing any method :
@ Find two mtegers whose

di€ference 172 and
whose dmoduc:f s 3o,

- @ Find two inteqers whose
- Som Is —I0 and whaose
product is 24,

@ The le F a rectangle
[s 2 Inches less thawn
twice rhs width. The
area 1s HO .2 Find
+he dimensians,

@ The length of a rectangle
s 2 inches more +han
2 +imes 1Hs width. The
area is 33 in* Hind
+he dimensions.

MIND IF |
PLAY THROUGH?

@) tow wide all the w

around is a Lrame That
fits a‘\;ougd a p?_gﬁ; Fhat
s 2 em ifF The

Frame ﬂhas on ofea of
2tk em* ¢ |

@) How wide is a s-'\dewa,\f

with an area of PG €k
Fhot Is built around an
$ by )2 foot garden

Unit 11

SKILL CHECK

Tndicare whether the
aroph opens vpward ov
downwad

Q) lﬂ‘-‘-’l?\l'l‘gx + 4

Tden-i-'ncj +he %lfow{y}g
as a quod ahe funchon
or eq vation |

@ 3x*-%x+10=0




and its re\a:\‘edr?‘:w;chon
de fermine the axis of

Mmme the moximom
o m'mi—lr;\r?w)e om‘l") and +he
(oots. Graph the related

foncthion:
@ -x2-8%X =16 =0

Use Factoring fo Solve s
@ 6x*=13x +5 =0

Use Completing +he
Square Fo Sole :

® Hxx-4x -17=0
Use the drat
fBemo la @Ugo\vetc

® 9x*-jax-1=0
Use +he discommant fo
determine the noature
+he (oots’ \

(D 2x>*-bx+3 =0

Write a quadvatic equadion
with the given roots:

Uuse any method 1o Selve:

@ The lengi’h of a rectangle
it ] omless Hhan 5 himes
ts width. The area is
15 cm®> Find +he dimensions.

How wide 15 a sidewatK |
with an acea of s T4+
+hat Surcounds an 3 by
10 foot garden ¢

HO) 'a&xz—-.bx +a2b =0

WHAT ARE
YOU DOING?

-Unit 11

REMEDIATION

Indicate IF the graph opens
upward o downward

O y=3x*+ax+6
Tdentify as a quadrahe
Fonction o equation

@ W= *x*r-3x + 5




Yor the 'Fo\low{ng equa.‘i‘i'on
and Fs related function,
deter mine +he oxis of
symme 1y ) the maximum
o MMImum pomﬂ-, ond +he
roots. Graph the velated
function :

@ ¥* -2x~8 =0

Aee fPac,ﬁ'o»r';ng 4o Solve:
@ 2x*-10% +& =0

Use completing +he
Squave 1o solve :

@ Ax*-—2x -} =0

Use the guad Catic
formu la +o Solwe

® yx> —jax +3 =0

Use. the discriminant
Jo determine the
natore of the

(D 2x*+ Yx+5 = O

BEWARE §
OF THE

Determine a quadratic
@qoodricm having the given
rocts |

@”%;-6

Use any method 1o wolve:
@ Ead two Intesers whose

difference is 8 and whose
product is HE&.

@ Determine +he umform
- width of a picture |
Lrame +hat £its around

a 5 by 7cm icture
W +he Frame lhas an

afea. ‘OF 45 em,

\
Slve (&09 method):
M ox*-2bx +Cc =0

_a- &
HE .
I| M PAVeS .22




Unit 11

EXTRA PRACTICE

| Inchcach== wheH e+ ’Q‘)mph
opensS VPG A o dow

O Yy=-2F-bx+3
@ Y= 3F-Bx -l
Td@ﬂ’h‘ﬁj as Q quadrcdic

Punc:\-lovw ol equation !
@ Y= x*- Hx +25
Gy, .Z><2 + X +11=0

For the related fonction,
dererming He axis and

ax /mn_ ot Determine
+h
*t-%cg ot ncﬁ(}%ﬁ)&:ﬁon Goiph

B >F+8x =12 =O
@ x>+ ox -3 =0

Solwve by Tactoring
@ x*-Bx -2r =0
@ 3= I3 x =30 =0
Solve by Césﬂpl@’hhﬂ+he
_ Squace.?
@D XZ-1OX +22 =0
© xz—t-qx._\ =0
Use the guadedic femob
- o selve:
@ 2xFABx -2 50O
AD9x* —I;,x*-‘ =

rvf\‘s'en&'t’_lf@% g\ﬁglmpmog 1o d%%;
B x—bx ¥\ =
@ H>@ - A1 =O
De'hermlm Q quadekic equadion
these (ewots:
® %, -2
23, —-3J3

Solve (any method ):

@ Find +wo imtegers whese
som '-H‘? 2 and wheee eroduct
s —

.ﬂ)e length of a redangle |
mc:h IC-LS Fhan 2 *hmes riﬁ
The area s 44 1n~
Fmd +he. dimensions.

@ ox*+2bx-Gb =0

@ What is the unform widihh
OF a ‘RCUYK’. wrfﬁ Qn Lc?l‘"ea
@F"TO \n* F r|* Eb«kd‘"%
aroond a 3 by o inch phafd ?




Rational Expressions

Lesson 12.1 | He at-5a%+4
SIMPLIFYING EXPRESSIONS | at-3a +2 .
To simplify an expression, @:_) ~SEmt _ (@)at=H)
an im Pﬁ;?”* Fé‘rsi' 5‘]7@{3 a*-3o +2 Ca-1)(@-2)
| 13. Yo ctor ona cancel. GADC ﬁfm—z)(g/iﬁ
Simplify each expression: o1 (95
® o+ - GO
a*-4 - . |
- Note: The num- Az
atr2 _ (%) — e\r?a’rw was Taclored
o4 Da-2) a- using the

quadvotic form.,

20 9=19
Y-y-6 .
) | Lesson 12.2
‘.d_: q(o: Cﬂﬂx:é’g)/ - |2 | MULTIPLYING & DIVIDING
=v- C + L
, -3 ,2"5'5(‘3"‘2) 27 mulﬁplgj and s\mphﬂ»}c
20 x-Y : '® 4n> | ba |
5’-..><7‘ . 3ab 4n
x=Y _ (x=9) __-(5/><)' Hpp Go _ XX A nnMAK
P GROBM T (0 G 3ab A KB A oA
Note: (x-v) avd (4 —| 2Len-N 2n>
are opposites. To Y+ x ' b = "E_'
Cancel , mo H+iply )
by 13 Huice.



20 Ha+g , a-5-
o*-2% BariD

Yo s ]

@15)E S | 5@

2@ xT-x—b  F+TRH

q— x> x24Ux+ 4

GAH | () )
GG (x+2) ()

moltply by G twice

~(3-)x D)
(3-x) x32)

- (o)
Cx+2)

DID I MENTION T ROLLEP OPIE
P IN A BLANKET AND STUFFED
HiM ONTO THE TOP SHELF OF
THE HALL CLOSET 7

te Divide and simphfy
x4 . xX+4Y
=y ' X+ 2Axy ™

To divide , moltip!
by +he Fecipro ca ot
the divisor,

x=9 . x2FAxy by
v >+

x> . (x9)
038309 ﬁ;@: |

Lesson, 1 2-3

ADDING & SUBTRACTING

when add \'nc_',) o SprraCh:?
 rofional expressions, find
o Common denominactor,

l® x_ X+l
X=2 2 =X

Multiply by &) twice
¥ _ x+l

e ——

X2 K=2
Be suce 1o wse parenthesis

o =k HD) _ xex-) ~| -
<=2, T x=2

2. ...Q_. + _7_.
BX lox*

Common clenominotor s 1Ox*
b 2% . 12X

BEX  AX JOx>

Rx 7 |lax+7
lox* Iox* 1O x*




e a  _ 4 - - Lesson12.4

a4  atx | |
COMPLEX FRACTIONS
& S (a-z) o '
@G (gD \a Simplify each Fraction
4= 4@-2) | a-4ar® [ -3a+8 ® m>
GRYG-2)  (ar)@2) _(a+z)(o.~l)’ nt w1
| | m®> oat mP o {mnt]
4@ 2(x=b) + X | hz'_
CoxAYX+3 *~3 |
2 (x—6) X A(x—l \
+ 20 a_b  aja\_b(b
(x-)x=1) ~ %X-3 ""> | b & _ b (a.) a(b)'
i) e EE )10
(x=3)(x—1) (x-3)Cx~1)
a* b*
Cx—l—'+)(7£733____ X+4 o5 L L
() -y~ L 4=k an
| , - orb  ab  o¥b
ab

Se__xt4 x5
' (2.—><>G<+5) (x-2)"
Mo tply by 1) uwice
~x) , &-5)
(2RR) ()T
Common denominator: (<=2 (x+3)
- 2+ (xf )+ x5 (_a\_té
(x-2)x43) \ X2/ )™ K H3
—~ (- +2-8) + (k2~2x -I5)
(x-2)* (x+3)
— LUy =7 Part O'P 50'U+ion : X+ (.Z'—é) + ._—-g-

1 ta)™ can be factored 73
(x-20*(x+3) ¢ continved

_5\_




4o

B
(x+4)-1 X2 4 EXHIS
x+4 _ x4
(x I3 HHE **+EXH5
X =3 x=3
x>+ Ex 415 X—3 3
<+ X+4+-8x +15 %+
x— X CHARY SFIER! Do
- x e 0
- S
wal ) x*+4
A\xF1 /) x+)
K2

‘>< (1) = ()

* =4
Crd) - T
K= X =2
Czs/ij (x+2) l Sy
oy

Dy O

‘ Lesson 1 2.5

RATIONAL EQUATIONS

Solve each equation:

® n+r2 _ h-3 _ 5

n N 2

mul'h‘p\j b3 Zh

2 Nz _h-3 - =
n {5 " 2

2(n+2) - 2 (n3) = h (5)
2n +4 —2n+b.=5N
o= En n= 2

20 X _ 22X _ g
x=H = 4~x

Mo H‘fp\ﬂ bg ("l) +W'ICQ
=9

><+lx

PR
| . y
6 (5 25 =)
X 42X = q(x-4)

% +2x = Gx-36

—-bx = —2b

X =06




30 > _ 24

— p—— T
-

ax  xt
()0 ) (f;; -2 =)

3(xH) —ax (@x) = 2 (2x)(<+)
I3 = G2 = ~HyE —HX

O x=D(4). (%-;:'- = ‘q |
6 Gt (4) =4 G = 10 (x=1)
4x-24) = (3bX) = x™= %

_]D_x-_‘:_'-] = )(2-)(
O= %2+ 1Ix +24
O = (x+K) (x+3)

= -8 oy -3

DOUG, THERE'S {
ADEAD COW |
ON ROUTE FOUR... |

I HATE
EARLY
MORNING

b2 i~ S TELEVISION

2@

Lesson 1 2-6

SOLVING WORK PROBLEMS

Kathy can wash and wax a
cay i 2 hows. Tom can do
the <ame job in 4 houvs.

How long would 1 tuke F
t+hey waorked together ?
S S el
kathg 3« t =3
Lo, -
Tom \+ t - T': |
%-&--E‘:l Gz)(%f%zo
CHE+ 26312 184 hours
Te = A - ov - ,
=2 g.‘eo =42.9
| S

A watrer Tank has fwo Fill
gipes and one dvain pipe.
ne £ill pipe can load
+onk n ] hours and the
other m © hovrs, The drain
pipe <an ennp'}'?_ the tank
in 4 hours., T yc)x\\ +|lmree
] e oeen, how lan
D dnke 1o Fill +he
Tank <

Conhmued

- 33—




rox = w
Fill Pige | g « £ = Y
Fill Ppe 2y - £ = %y
Drain Pipe 1y -t = th4
£ ,t £ _
=+t% "4 -

2® Nicole can wash Hhe car in

2. houes bﬂ hecself, with
Evin helping, " takes
only 45 mnutes. How
long would 1+ take Evrin
40 Dash +he car herSe,h“

r_ ' -‘-_t_ = _U\_).
' -—l-- * A i =N ..-3—-
Nicole = % Z

when Nicole works 45 min

(3/4 hour), She compleres %

of +he uoork That Jeaves
5/g For Evrin.

£y

EY"; 4] L -& 3 §

X _ 5  Tf Eonk vde is

M 8 5/o , her time
- workmg alone is

24 = 20 +he reciprocal

ra B/ (e/z) hours.
I hours | o= 112

He Mork «an clean +he base -

ment 4 +imes faster Than
mG\H HOUJ lovn WI” it
toke Mark 1o dJo The job
by himself i +he ’}‘wo
bog,s cony do T 1u56+her

i | houvr and 20 minvtes ¢

S =
Mack 4 -

Matt - %

|b\h+ L"‘(" -l

3 (i(:r Lh‘

w
Hog
H4

N

It

3 T3
lbr +Ye =3
20¢ =3
= 3ho
Mark’s cade is + times ﬁs&e.r
4 (3/20) = Pog = /5
Reciproca) of ¥s is 5_/5

1% hours| -of- j\:ﬂo‘




S

@ @ 6

@

1 2 l1 Problems

SIMPLIFYING EXPRESSIONS
Simplify each expression

u-4 @ﬁ__—

Y%=l oo-b
x+2 @ 25-4x*
*>2q 2% % =15
a*-a. B) x2-3x+2
a_—\ 2K -2 x*
M=—2m ) Ao-2a™
M- 20>-30-13
2C+6 @ mom -2
2LX+6 m3*-m-G
3In?-9 () ¥x*+x-12
2n -9 . x*42x—IB
~Hy* D 202-ab-b"
24y b*+ab =20
Bk @ >x=34*
22+ bab Y>=X 2
X+b @ o-Bor+H
Y24 K+ 6 o -G -2
-3 yt-13g*+3(
KEp X -2 tﬂl'l'Sj S

12.2. e

MULTIPLYING & DIVIDING
VITiply and simplify;
O Gd®n . 1201
En> Qo
@ lon’ . D..nz"x"}‘
bx> 25 x>

@ 2p-3b | _a-
— -5

o—b oxb

B) x-5 HA—2
w210 2

©  x+) X =3
X*-2x—3 X 42

@ _ a*-b* Qai—b
20*+3ak + 6" b-—a

®  2x-Y (x+9)*
| x*-y* Yr-xyg-2x*




Divide and Simplify: 1 2 3
n Problems

2
© = L4 ~ ADDING & SUBTRACTING -
| ' Find +he sum of difference :
203 . |
o+ | " oa+l (Dj___i m—-f\__ ‘
2a.  Go* mn man?
@ m>+2m +| . +1 |
S TR @b, 3 @ s,k
| Tx - 2ix* x4+ x-\
95 -6 & 9-3 @ 2 _t+3 @ K _ =z
t S 2K+ K+2
B X - _X_Z_'____.
X2 x=4+5x+6 ® T _ x4 ® s L 1
| o b F=9 39
D XFx-2 o xZ4Axd
X* SR e *ELTx 2 @ QK -5—-& @ __:_%_J,. =
o¥b b 5-a.  a=25
® a2+30 -10 1 @2-at$ |
a2+ +15 T g-ao. ©@_m _5 ® _a + b
o - m-rn m G-b 2b+3a
® 2x*-%=I5 . 2&43%5 - |
x=-2x-3 = x* @2rg 28 @ ),
. Y- A=Y m+  2m+5

® atb ;atb @ _Ha  _ Barl
x-3 | 3-x ei—a-2 2-3a

G 29 , w5 204l _x=2

w25 Y-S (x-D* (=)&)

continued



Review | , O B a*b?

a ——
Simphify expressions: b X
- : R
263t2) @O x*-ted % OLBC-
24%15L 28 x*+4x-)2
Mo Mgty / Divide and simphify’ @ x>2 @D *x+y
B otb
@ x>-)5x+50 , xx=lw2d el ST
S X*_9x+20 x*-18x +&0 i ey
@ 9 . Y=25 ngATcH
- CRATCH
5 B5-9 v Hin*~m* @ 1,1
2 4 n* ' X 3
“O"Xl T % -
Simplify by Fadenng | ‘ _
H_Siﬂj 6)\)(1?‘(&3"1'0 ‘orm ! & . & @ x-SR +H)5
2 b C ¥4 Xx—-b
@ w1 =37 x4+ 306 o SR Y=
)(2'—- I%x + 6 b*>~b BT P -3

@ a2-ot+s > 9|
azH3a YL yr3yd

12400 o 7
2430 ~|8 .
n Problems aTrea

COMPLEX FRACTIONS |
S . A a*-22-3 © 2
Simplify each Fraction: PO S )
05 0% ®5 T ek
3
“;%3 = 'z;— continved

Q:.
| -37-



X+5 L
.2 x ="
X+6 <
® a>a-) @ L
o - | ®ESE A
|
- X+3
O = -l
Rexiew
Simplify each expession
a*+a—0 @ X -§
o> +%a+HIS 3421y FY-

Mulhply /Divide and Simplity*

@ x -4 %% +Xx-30
xZ2x -0 X*+3x —18

@ a+b . _arb
axa -G o) =

Fnd the sum / diffecevce :

& 3  _ _3

————

x%-3x-)0O xX=5

@ _2 P
: 2

1 2 l5 Problems

RATIONAL EQUATIONS
‘ @ x4-1 + X+ 4 = 6
X X
g - 2
@ b b +5
Al - = - L
3E ax 23X G
2 _5 _ A
® 3x 2% 6
@ m_ 5 = |
‘tdal) m-1
@ -1 _ 2r - -
v+l s




Divide and Simphfy, ¢

@) x+3 o 28 xS
- R-4 2x*=8X%

Sub'l‘f‘o«c.—'\"/Sl}np}{FB:

@ a

——

o+l atro

30 :
@ MN+2 "Fﬁ_-'i-—— .

n — 2(n+0)
N+ |

1 2 . 6 Problems

WORK PROBLEMS

@ Jane can wash the windows of a build-
Mg n % houes. Tim Can clo the same
j0b n & hours. TF +hey work togethes
how long will i+ take them 2

@ Mark can clean the %arﬁe n &
hours. Rosedta can do the Same
Job in ¥ hours. thw long will 1t
toke them iF they work ether?

® Helema can doalobin 5 days.
Teff can do ¥he same job Tin
A dcna:;. How lOng will ++ toke
them if they work fogether 2

® Frank can do a Job in 10 houvrs.
Keith can do +he Same Job in 1T
hours. How fong —
will W+ take +heém
to do +he job

® B Suwimming poot can be Filled by
one pipe in 12 hours and by
anothee in 8 hours., How lon
will i+ Pake to Fill +he pool ('
he water €lows Through Joth 2

@ A Swimming peocl can be £illed b_uj
one pipe In 3 hours and by
anether in 10 hours, How long will
W Foke to €ill the pool fF water
'F‘cws ']"hrO\Jgh bo P’.PQS 2 .

@ A swimming Q)do\ can be Filled by
one pipe in 10 hours, TF can be

—29 -




drained by ancther pipe m Beview

15Y hOUYS. :?:'F +h€ ‘ﬁ" P)'pe S}.W\P“F:j .
ond dvain pipe are

Omn) how lOl’)ﬁ Wf“ W take @ nL\ —-2@()1.'.25

1o Fl +he posl 2 2y =5
@ A swimming pool con be |
Filled by ??ne pipe n G wive s
~ bours and: by another in
4 houvs. A dyain pipe ) _d - 5 ., Z
emphies the pool in 1 W2 T2 X=3 e~

hovvys. T+ ol Hhree pfpes
how Jong will

are open
ita -Jn(ig_efc; £ill +hepool .
@ Cindy and Exice can do & Unit 12
Job 'ioge'!'her W 33k hovrs,
Cindy can do the iob alme REV'EW

n & hows, How long will _
+ take For Evica Jh?do PROBLEMS
the Job alone ¢ - Cimelify each .
. imphty each expression:
Ben and Jason can do o P

20k together in | % daﬂs, D % +4 @ 2= +3m-3

Ben can do +he Joe alone 7 T;: Y Tm -3

in 3 days. How long will xX=4 "

1+ Foke  Jason do do the |

Job alone ¥ @ _»x+4Y @D -1z > 436
X2 42X +Y* nN*-5h+6

D Town and Devise can Mmow
- a lawn fogether in 12

minuies, Hlone_) John can @ 2b-2a
do the Job 1 20 minstes. o> bt
tow long wovld it take
Dewise Hs do the job alovne. .
| ‘ | ® 13- 3x
@ Ann can clean the :jam:,\ wEx -2

three +imes faster fhan
Phil, IF they can clean
the yard together in 45 B) oxy1Tx-14 @ 252+ M
minuTes, how long wovld S z o _

i+ take "Ann do d3. the 23X = 20x 1> W= X2
Job by herself ? ' |

-0 -




Multiply /Divide n-= |
and Spmphf}j @ N+  p=
@ Gm3n . Ham |
lba>  Ign? - (@ 30-bo _a-5
a}-—ﬂ 3—a
(9 Txy3  H4 2>
hzx 201%™y @D-n-5 _ _ n_
n*+2n—Ii% 4|
@D p*20n+99 | _n+T o |
| n+9 A2+ 120+ _Slmp\_;f-g each complex Froction :
| a+b XA
@ x %41 +8Y ‘»(lj'cl @ C @ X+3— )::2
— 2 ) '
K-3 X HSx+36 C‘i‘_él " ox- 6
. ‘ 2
@ trgttle - 2648 ¢ s
Wipbw+9q = 2w-9
| © nzq @ 1 _ L
2k>72 | 2k+12 =Hn+> 2
N+ x
B) f+a-6 . a+3a-10
C 2aE+Bat2 T 2aPy e @ - G a _b
- . n—- —— Y
n-—32
© Zﬂg%n‘z h’-}-émi-q a |
n>—| n2-n 2n+17 T+
- n+| - S
| n+S
Add /Sobtroct |
and simplify : Selve €ach Eﬁua:\‘ion .
@ x+8 + A @) 2a-3 -2 =A%
x*-64 =X -3 at3
: 3 L 2 | |
@ a+b + Sy @ + —-——X_S_ = I;(’




Solve each problem :

ha mt the
® 2 fgnmmfﬁ %)lours Mike

Can do +he same dob
5 hours, How )ong wull
"+ take | F 'Hﬂe:9 ROk
toge thev 7

Andy cn stack all the

@ boxes m 2% hours,
Tom can do the Job in
|2 hours. thow long
tm” 1+ take 1F -qug
work toogther

@ The fauvcet can €ill the
-~ 4ub in 10 minvtes, The
drain can emet +he
+ob n 15 minu Fes +he

lon i Fak
Fau‘?@,‘l‘f‘}o il -Hne 'l

if the dvain is” open 2

G A hose can +ill the tank
2]4 20 mmu"‘es and """’l“_e.‘ﬂ
min opening Can €mp
+he 'h:x&ek wig 30 minvtes,
I+ 2 hoses ave €illin
while +he drain is o(i%a

ho\ﬁulong until +he ’l'anﬁ

@) Phil and Evan can label
‘ all +he books in 1

hours wocking fogether. T:f
Evan can- compléte +Hhe Jc)b

by hmself 'n + hours
IGng woold ' take pm

Eeﬂ and Jerry can complete
a Job fogether m%hovvs
i+ okes Ben B hows
b h»mse\F how long dees
H— +o ke- :r)errg

I'M NOT AT MW BEST
IN THE MORNING

~&

Unit 12

SKILL CHECK

Simplify:
() 2x +6Y
X2+ 2xy 3y

, ® 2XI+B)(+20
2%2 +5X

My lFiply /D°\\lid_e and Simplify:

3) Ha*b | 2ac?
bac 7b3
@ x2rax+2 X3+t
57(2-.- l‘+><+8 Xz'- L"X




Add/Subtract and simplify : +he +wo oF Hhem n do the
Job jogether M 15 mimutes,

@ j_—__:_l_a._ + & How long would 1+ +ake
a2 5o +o o3 Dean o +rim The hedges by
| himself ¢ .
@ v*+xy _ x*+Y
x*—-y* Yy-X e
Syimplify: :
@D & _2 o EFZ
b* b a—4
oZ-gb-2b" Ha-%
' atrd - ——
b a-R

So\x/e Yhe equa;!'icn:
@ n-] _ 9n+l  _ 20+l

"5 e T REMEDIATION
Solve ¢ - Simplify:
© Tue Rill prpes lead into D a*b- @) 22+10x+3
the water tank. One 362~ ab-2b> w24+ 3x>
can Fill the tank in
6 hours and the other L
in 8 hours. A c\mr- Mo WHply /Divide ond simplify:
opening can em he
S0 A b ® axsiz | 2x3=
both pipes and the a3 ISx 4t
drawn ave open, how
long will i+ take o £ill
+he tank 3 @ n*+10n+21 . 42470
0 TJan con Heim +he 2 +9n +4 h3+4n*
hedges n 40 minvtes, '
Working with Dean, continued

_..|_L?>.._.




Add /Subtract and simplify:

© —x*+3x-2 , 2x+|
%> +5x ~0 X+ 6

©@ -o*+3ab+4b* 24a+b

a*-b* b-o
SP.W)PH‘Pg
@ 2_3
X 9
ex _ 15
X% Y
@ 2n+4Y
M2 T ks
2
]_i_-..
N+ 3

Solve +he equation:

@ B + jOn

YH—S;

Solve

© Q pool ’can.beq-(:ihlled
a l oUVsS
Qv?d O\Pllnpoie ?n & houvs,
I+ can be drained in 6
hours, If the drain is
open and water s

nE+5n+b 7YY

10

comrng mto the | From
bo+{1‘9+—he pipe OP;% +he
hose, ow lorr?g until he
pool Is €illed

Wor¥ing Jooe ther, Peter
and Gﬂ%fdgre\ can Shove |
Snows Erom TR dreivewau
1 20 minutes. Peter
cavy do tThe job himself
in 45 minvtes. How
lona would i+ ')'akQ!
Gotdon 1o do the job

by himselF

GARFIELD. ARE
20U TICKLISHT )
ey ™

I TAKE iT THIS TICKLING THING
s MEANT TO BE OF THE
AMUSEMENT PER&%ON?




Unit12

EXTRA PRACTICE

Simp iy
0 RX__-_‘:_\____ | B zn=T N
X+ n=7n+2
@ —-ab +aa @ 2n*-2n -+

MoHHply and Simplify:

® BOL):»L*. bc
\0et  12a80*

® NTan+5 | 2n™6n+t
NSt 0 N5

. Di\lidei and r:E;I.mpiH‘:(j :

D xXF+ T2 . X+3
@& '5_)( +12 X3
NS o) A A
Add and Simplrly
@D a-1 . -7
A+3 o4t
@ 20O L x4
X2 K2

- SObYrack and simphy :

@ an+d _ 2n
NZ+H1N N+

@  -lo _ x-2
®= o H—X

Simplifp s
® n+3 @ 3 _ =z
——gn az QB
N35Mb 3+00- B
n- o
So\ves
: @_’2-..._2&____ - 2 + ©
s XH S XAS

@ _2 +v_L_“_- = 2ot

Nn+3 n<.q n—-3

@ Francis can pant-the fence
in G houts Gnd Scott can do
the same job 1a Y hours, tow
long woold i foke them s

+hey wovk toget-hers

® A scdimmiqé pool can be
Filled in 4 hours and drawned
N G hows. I€ the fill pipe
and the dvain are both open,
how long would take to i H The
poot 7

Simplifyy
@ n-+&

gy — NS
" RD
N — Ha"'fh

———

2k

Salve.:,

Fablo can dean oo the
Shotade shed 9o mipules.
With chais helping 11 Jakes
onB 20 minules. ﬁow lonj
woold T take chns 4p cle@n
out The shed alone 2




Algebra SKills Review

Part I (Units 1-8)

" " .
Nnuom ver Ine
Problems -

| _ >
QUARTER #4 REVIEW Q@ laxaf- 22
| | ® |3a-9| <6 pd lal#2
IdemL\ng +he propertj: . ‘

'%f + %f =0 SimpWfy monomials:
- 2 .
9 (% xya)” (axy'e?)”
Evaluate: a=-2, b=-3 @ 1% g > b2e=3
3 < o™ b*c

26 -3ab +a

o Evaluate in saentific
Simphfy hotoion

2ab -2a (a-3b) -4a* @ (.03 x 153) (14 = 1072)

- Selve the equation:

Z0 -3 (-1 = 4 () -

Solve +he mequatity:

2x+3A o x4 . »
5 2 Mo ply /Divide poly nomials «

) (Lhu-‘r) (2x-5)

@ (263 +a*-a-5) * (@-V)

@ (20b**2-3c9%)*

Sohe and grph on a @ (Ax"+y"3)(Yx"-y">)
~-H5-

Solve for n:
Anc ~2 = Bn




Determine GCF angl LCm:
12a%*b, 30abd, 5eabe*

. Factor Comple‘}elj:

@ n-)

bn* + 14n — |

@ Gn-ax)* - (n +5x)*
@ o2b*-at+orbr -k

Sole “+he equation:
@ 213 +6n = -8n*

Linear cguations

@ Write aw equathion in
Iine +ha+ wmclueles
(-2,-10) and (4, -15),

@3 Write an equa,‘r:on n

Slope - tercept
fFor a Wne Perpenchcular
Yo ax-v =12 going

through (-—3 q).

)

@ Write an @quahOﬂ Iv) pom+-
Slope. form parailel 4o
W= = Ex-4 Passin -Hf)f‘ough _
+he powﬂ” (~7_ ~5Y,

@3

Change Hx+4 -—.13 40
Slope — Mteccept fovwm.

Determine +he Shpe and

both intercepts. Geraph 'it.

Determing the midpomt ¢
@9 -9,7) (—3 5)

D?jermme +he fOnchon |

volue ¢

&) € (g9tn) B €)= x-x*
and g ()= X-5

"W B "w oo -
Problems
QUARTER #4 REVIEW

Ide,n‘\“i\cg t+he - propeviy:
® Hy+ab = ab+ 4y

Evalvaie ! a= "'l} b= -4
a3 -3b* +3ab
S;mpli'Pj:

Hx (27‘-3) 3x Cg) +ax)
— e




SON@“ ‘)’bé. equotion

©) |2+%§l‘ = -3 (x+2)

Solve. the inequality:
® 30@n+D) 5 12-n

-7 AL

—

Solve for x ¢
® 2(ax+y) =3y (x-1)

Solve and graph on a
nem ver Iine -

@ In-1]+2 <9
®

In+al-122 ond Inl<io

Simphfy monomials :

@ (3 a2b*e ) (-2ab7c)?
-30 a3bc™?
—~babic®

Evaluate in scevnfe
Netation:

@ . e0L> » o7
g x 107

Multely /Dwide polynomials:

| @ (2a+5b) (a-6b)
® (5a2-2b2) + (a+2b)

® 0 ®a

@ (253 +43%)2
G Ga"! 3" a2

Determing GCF and Lom ¢
7'5‘)(&2) HO x* Yy, 124>

Factor completely GF possicle ):
3x3 + bx* +15%

Ho®* 4+ 18a b + & b*

(a+14)*+ 3 (asy) —10

*x®-x192 4 )oy* - 1B x>

Solve +he equotion :

Ho3 + 60 = I4a*

®

Lyneayr equohions:

@ wWrte an equation v slope-
wtercept form o o line
defined bg,i :

@ write an eguation m

aFondavrd Form B¢ a line

wrallel to u= tx +3
gzssing -H')roulgh +he pont
(g,—-6).

- L}—/_




@) write an mu%ﬁ'on%};) Simphify
n¥ -slope ™" ol
(iprn)g peropgandic&ar' +o 3 3n*-2n (n+m)+2mn —n*
X~ By = g that passes
Yhrouvg b C**IJ—G).

C +he e@quathon

@ Change theeauetion | @ stray= & +3n-1
form. Determine +he

Slope and hoth intercests, _ e

- Draw The graph. Solve the inequality :

Selve the eguation ;

® 32(n+Yy) > Hn;(’

Determine +he endpont:

Find B i€ A (2,9) s
one endpoint and P(S,7D
is the midpoint of AR.

Determine +he fonchon

@ VCEIUQ : )J p( ) 3 SO‘VC’. ‘FO(" X
£ g adv)] for £x) = -2x
and gCx)= x* © xy —3ab = 2a (x+ b_)

Solve and gmph on &
nomber Jing

"C" - - @ l2a-1| -2 > 7
Problems |

@ |loa+yl <7 and lal# 2

QUARTER #4 REVIEW
Identify +he property: Simph Ty monomjals:
@ = 2. =5 @ (x2yd)® (x4
) R X
—12 %3 y™%
E\(O.‘UOJ‘Q.‘ X::-l, 5:—5 _Qox_laqa—z '

@ 4x2y -2 (x+24)
| - —ug-




Evaluate in stentific
Noto tion :

0D 7000 x 1o
.5 X 0"

Mo 1ply /Divide poly)nomia\S:

® (2a-7o) (3a-5b)
@ (4xt-594) + (x-34)
@ (X%n—z_ ,_hjzm-l)l

® Go2*+ ) (2% ")

Determing GCF and Lem:
o) agbgc’:, 100 a‘*b"cg)
108 g b3H

Factor completely (F
possible ): -

| D 20fb™- 302 b®
(® 6a*-2ab -9b*
(2n+5)*= (h-1)*
ol —-a br-a2bi+b®

So\ve_.‘i'he‘ equotion ¢
€D 9a® = Ha

Lineayr equotions:

@ Write an equothon in standard

@

@

&

form for a hne dhat includes
e pomts (-4,5) and (-2,9).

Write an equation jn slope -
nteccept orm for a line
perpenthicutlar fo 3x +29 =4
passing Theough &),5).

or ‘Hf)e Fonowing ea,uod-:‘oni
Y+6 = § (x-3) idenhfy

the Slope ; and Hen change
the form of the equation
to determine +he ntercepts.

Change '—_L:} ><+§'2'_‘j = o
standard form, Determing
+he slope and both nter-
Cepts. Draw +he groph.

Determing +he midpoint:

2 AB  A(5-12) B(EL49)

Determine the funchon
yalue !

@ F[atn-n] for fo)=ext

and _9'(}() = %—|.

'"'L"q—"




Algebra SKills Review

Part 11 (Units 9-12)

" Au
Problems

QUARTER #4 REVIEW
Classify the system anc

indicate” Num bev of Sclutions:

O Hx -9y =6
: ax -3y =18

Solve Fhe 533+em Uusmg
any method: '

@ 5x-29 =17

XxX+394 =0

Graph +he Inequality:
3 2x+4y > 6

Graph the system:
@ 9] +3 £ %
® y<ix+H

Ix) > 3

Simphfy the vadical:
® {B5axigizs

Colcolate +o Vo

@ Jz2o4

Compute and Simplify ¢

@ Jz (378 ~Ti) -203

Smphfy and cahonalize :

@ 203
3&—@

Interpolate:

Jir7d (Table on paoe 8)

Radical eguation:

Q) Jaxrs -1 = 2
Pgi-‘rmg oftean Theovem:
® x

Hm

Fmd 4he cistance:
@ (3,5) to (5,9)

P'lj(\jd i;he. AxiS 9{;.93&“”@*;)3
a \ it Qrap
the Pl)ndr';%vﬁo
@ Y= x*-10x +2|
| -E0-




Facior Hhis guadvatic
Gguation +0qF\'nd the (wols!

@ 2%*— }Ix +15 =0

Com P',eﬁ.e +he Square o
de+e('mine. +he. POO-FS:

2\02—";\"." +14 =0
e +he formula Yo
determine +he roots:

@ -4n*+8n = -3
Use the diseriminant
1o determmme Hhe

| hotuve of +he voots:

@) x*+5x+3=0

Ms Hply and Sfm_P“"F‘:j:

@ 2x5+x = » _2<_i‘.-_‘3_

Divide and simphfy ¢

n*=le - n+4
n%- 64 .n—g

Subtract and simp)iRy ¢

@) 4 _ _3
- B-"1 pZx5n

| "W B " -
- Problems

QUARTER #4 REVIEW

Classify +he system and
indicate +he pomber of

@ A= x -8
&mé4%esgﬁwnuaﬁ‘
any me+%%df 2

@ Ax * 3y = 6
Ax + 4y =7

Groaph +he 3”@‘-’“";@"
@ y< -4




Graph +the system: Find the distance :

@ ly+2]+5 < -2x ® (b,2) Yo (2,-1)
® ly-3x| > 6 ) | |
Tyl >4 © Fnd ¥he axis GFSnge‘H]:)
and WWrning peint Graph

the fuonction:

S;}npla'ﬁj the radical ;
P y= -x>+8x -2

@ \\ 72 o3 btc*

Foctor Hhis guadvate

Ca\cu\od'é 4o \_/10 : ec;uad'fon 1o £ind +he roots:
@ J9456 @ 22+ 6% +16=0

Computre and Simphify ¢ (cl‘g‘;_nep)e’re -}:}_'hhe $qua;,_ge to
: rmine e Yovots:
5 (i +20E) =
(© 3n%-244n =36
Simphify and rahonahze :

Uee +he formula to
determinve +he vvots:

@ Y4n*+&n -~ =0
Tntecrpolate: Use The d!'scr{mfnanf%
determne the notuve. of
© \II“:8'8 (Table on page 8) +he. coocts: -

?>x2+6$< +3 =20

Rod)cal equa.h'on'.

@ a3 -2 = 2

Pythagorean Theoram:

@1 . 2 m

» Zm




multiply and simphfy
N*=le  , n-4
N sntle. n*+6n+8
- Divde and Symphfy ¢

@ n2ian+l . n+]
N - T 2n-3n+6

Add and Simp)ify

IF JON'S PERSONALITY waAS ANY
LESS COLORFUL, HE'D BE INVISIBLE

"w C "
Problems

QUARTER #4 REVIEW

Classify the Sas-mm anc
mdtca:\-e +he numbey
solotions

A Y= 2x+06
gax -4y = 10

Selve fhe 535+cm UsIng
any method:

@ Bx -2y =7
Bx -3y =1
Gmph +he ;Y)equah'*g:

& % =

Graph +he Su\_ﬂ&‘}‘em:
@ |v-3]+6 < 3x

B |x} < Y+2
Ix] > 4

Simpli€y The vadical
@ \l 125q3 b3 sz

‘Ca\c;u late +o'7’5 :
@ Ne42




Cow”uﬁe and Shhpﬁfg:
4E (6 - 2fE) - 2&

Simp)ify and ratonalize:

@ 4z

e e e e

2iz2-J3

Interpolate *
J22649

(Table on page 3)

Radical equation:

@M J4x+13 +3 =4

Pythag orean Theorem:

@

Hem{ §

10m

Find the distance :
@ (L})g) +0 (8)_‘)

Find the axis of

Symme try and Furning

£€M+“@anh the
netion

@ y= x*-6x-16

Fachyr this quadretic equation
jo determine +he voots:

'@ Uy2 + |BX -4 = O

Complete The square Jo
determine +he yoots:

' 2nZ+12 = 18n

nse +he formula +o
determine the voots:

D v2-6m+1 =0

Use +he diseriminant to
determine +he patuve
of the roots:

® 2x*z + 4% +3 =0

Multply and simplify:

® 2nz-13n +)5
- 2n -3

_n+l
n*=4n-~5

Divide and Simplify :
n*-gl - n-9
N*-36

Nn+G&




0

Subtract and simplify

@ o N 5

S-a a*+-25

Solve
AX - 2 . 3
%2-5x+t x-4 -1

Problem Solving Review

" A! I
Problems
QUARTER #4 REVIEW

Find +he middle of three
consecutive odd ntegers

Such +hat Hhree times

The largest decreased by
fve Move +h0w\ Fwiice

The smallest s six.

Find o pasitive even
mteger such Hhat four
less” vhan +hree +imes
the integer is behwoeen
-10 and I7.

& Ryan is %% as old as

Sem. Tin 5 Jears, Ryan will
be 3/4 a5 old as Sam will be
4 Years From now. How old
was Ryan last year 7

@ The sum of +he squares of
fwo conseecutive integers
is G, Pnd the integers.

® The sum of the Aig¥s of
a two digit number s 7.
TF +he digits afe reversed,
+he new numbev: is 25 less
han twice +he oviginal.
Fnd The onginal nomber.

@ Fran earns $210 pev week
lus 8 %% commission on
all Sales, T She Ankes

-BH—




311872

home 1004 over a 3
week peviod, what are
her sales 2

Simon has 28 Comns n
Mickels, dimes, and
quartecs. He has fwice
as many |
quarters as
dimes and
$2,.65 n all.
How manyg
nickels ?

Willy pad the cashiev
including 6 b
sales tax. What wag
-Hng Pr']ce, before tox ¢

Merritl vested $18,000,
pact ot 8% and part ot
6% annual mterest.

After one year, he earnec
$240 less“From Yhe &%
mvestment, Pow much
did he ravest ar 6% ¢

The scout ¥roop spent
3120 on 50 adwmission
+ickets to the carmval,
IF advlt Fickets se for
$14.25 and child Hickets
sell for .75, how many
oF cach did 'Hﬂej bua ?

How much wateyr Should
be evapovated From 304
of & Bo% salt+ soluhon
4o raise +he concentrahon
o 0% 7

@ A'mb leoves home at 1130

PM “riding her bicyde at

a yotre of & mph on hev way
to the beach. Her brother
Rick leaves 30 minvtes
loteyr and ovvives 15 mivutes
eocher. TF Rick rides & meh,
how fov is W +h +he beach
and at whot hime will Amy
arvive ©

@ A boot ‘[TY'“OLVC'-‘Z‘S 42 miles

downstream jn 3 hours.

-The return Jrip tokes 7

houvs. What 1s the yote of
the cuvreat ?

@ A recfrc\ng\é has a length

Hhod is | em wmore than 5
+imes s width, The per-
imeter is 3L cwm. Delerwine
The area.

® A photo Hhat is 2 nches

longer than i+ is wide Fiks
exactHy into a frame that
has awn area of 39in*
What are +he dimensians
of +he photo i +he Frame
is 1% inches all +he way

‘around 2

Gary has a & by (2 .

garden, When he adds a
anmform strip all +he way
arouncl, he increases The
area by 63 squave Feet.

Bow wide 15 the shrip 7
‘-5(9‘




@) Five less +Hian a number +ogether with Miwa , +the +wo

1S mvu H‘\'P\}ed bg Juwo More a’\r S Can do the_job jn @ mmdtes.
+han Fwotce +he numbev. ow long would ¥ Yake Miwa
what is the number if o do THe job hewmelf ?.

he produck is By 2 |
@9 One pipe Can load Hhe 4unk

@ Tm can clean the house in 2 hours, Another can
in 2 houvs, T+ Jakes  do the job in B bows,
Russ & hours. How long The dvain can empty the
woold 1+ toke IF they Jonk w» Y2 bhours. IF all
. worked Together ? | Hivee ave open, how Jong
. (to the nearest minuie)
@ Susom Cawn wash the car o 1T be bm'H} +he Fank
n 12 minutes. NO(‘k-iVlg ' is fUN ¢ : '

RUNNING INTO THE
WALL CONTEST!

Tom PAVES o-&




Quarierly Exam #4 - Skills 1-8

REMEDIATION & EXTRA PRACTICE

Evalyate the cxpress;on:

a=-2 b=-
@ Hab*-2 (a-2b)
202b*- 2 (a+3b)~>

Simplify :

@ 2xy-3x (y)-8x
2522 (3 F2y) —axy
Solve:

D 4-2D a-5(nsu)
2 (x-3)+ %:- =3%x-9

& 2a.-) < 2(3o+)
3 3

2X-3(x-1)2 Z-+0

Simphfy:
® (Farbe3ffad ey’
(Fx'9%2 z)z(—zxfz' '

@ ~bxy2z=3
L‘. X2.33 a"s
120725 3cd”
~G a2zt

Evaluade. in Scientific,
notoion ¢

othely /Divide

@ (3n-B)(Hn+3)
(2x+3y) (x—'—lg)

(2n3-18m>) T (n-2m)
(8 x?’—"zs53) + (2x-39)

Determine GCF and L.

25x%Y B2
2Bx y> 120 abc
HE 2y * 1I50atbc*




Faclof coppletely:

) %2+ xY) - D‘tﬂz’
1I2a”~Idab +3b*

@ Had - R+ B Haty™®
ba*x -202y-bb™>x +3byY

Solwe «

®B) x>jox =3
5n*+10 ={6En

Linear eqUo:\‘;onS A

@) weite an equathon in _
Standavd ©om for o hine

that includes 23)amd (B,

Wate an equedn
Sope ~n¥erceptfom
for a line that includes
G 2) avd (6;7).

© Write an_ayuotion "
stardard Bem for a line,
parailel o g ="gx+2
Fhat passes Through (24).
Geaph the line.

Write_an equation jn
Slope ~yntercept B a
Iine perpendiciiar o
2x-4 =S Thyough €9,6),
Gyeiph The line.

Detecmine the. valoe
Fn) For RE)=x2-2%
F(2043) B FOO= x—x*
DeYermine +he midpo'mh
@ AC5,12) B(9,-4)
H’(g) '—q) & ("‘2 )3)

Seolve for X ¢

@ 2%y =3x+y
=24 = XXy -

Solve. and Groph on o
- pumber hine :

@ | 2¢+4)<8 9 |x\#|
|2n-4]>10 Y |n) £10
Moliply

(Zxo\i-b_j20\.+b)2-

(3 My 233"”'!)2'




Quarterly Exam #4 - Skills 9-12

REMEDIATION & EXTRA PRACTICE

Classnc +he system and

Intecpolote:
indicate number ot Soluhons " poloct

Solve (any method):

@ 2% -y ==
X+5y =~g
X -2y = -4
bx+4 =3
Simplify :

® V60 azb>c3
V75 atbc3d®

COme‘}e and Simplify:
V3 (24 -yB)-23
HE-30z2 (306 -200)

Simehfy and ratondize :

®) 23z 2ho
Z - B ~2

Jiens  Juszy

Raciead equations:
@ J2nt6 ~b = -4
-~ \/5><+l =5

Find The distance
(-3,2) Yo (-§-3)
<5fq> +o (OI,"7>

Detevimme +he axis of

symmeITy, turnng

poin ¥, Gyeph The fonchon:
@ Yy = % 2 6x+8
= XX 412

Complete +he squave -
© n%-bn+b =0

ZKXK*4+E X2 =0

Use +he quadwerc formola !
Q) X%6x+l =

2xF+12x-94=0




Divide and simpify ;

2 x*>ux-5 . X3+
XTI XT3

znl“sn""—?’ o Zn+

N2 +4+b6n +8 2n+4

Svbtadh and Simphty:

=z _ 2

N-| =N

3 _ 5

X724 2ex*

Solve

& n=-5 , n+s _

N+ | N -2

45 =) + ig:}_ =1}
n N3

|§? THERE'S A NOTE IN i
i M% SANDWICH :

IT SAPS, “INSPECTEP
B NUMBER 23"

2xE2,
KZ4x—2

3x 3

K42

Groeh The écds‘tem .
ly-6) < x +2
lg]>2

[y+2 )< < +4

|x|< 8

THEY INSPECTED | THAT, OR
My TUNA MELT? /THE COOK'S

P Gs GuNR W
z
.
>
|
z
Q




Quarterly Exam #4 - Problem Solving

REMEDIATION & EXTRA PRACTICE

D Find +ne largest of Fhree
ConsecoTVE even mteers
iE fwice the smallesty
decrensed by +he largest
is sixteen less than Twice

the middie one.

Find The mddle of -thyee

consecutive odd integess if

+he smallest decvensed

by The largest is +heee more
n +he middle one.

@ maric is Six eoxs older
than Ramon, Six years
ago, Rawmon was 34 MNarks
Aog Houw old s Marknow?

Ken is ten YELrS older
Fhan Strewe .ﬁ%ud-eean
s Sreve was 1S
qggao\doggs(}’Ken. Baw old
untl Ken be. next aea,\r.?

& Joviet has Twice as many
quarters asdimes and =
e as maviy dimes As
Mekels. She has $6.25.
How many dimes. does she
hawe 7

(olleen has %2 as many
dimes as quarters. Thé
number of mckels she

hos 1s Two less Han halF
+the pumber of dimes, TR she

has $3.90, haw h')a\;%e?

Guarters does she

@ The sum of-an
odd 1 'y
and ;h?zﬂ:quare
of the next

con sechve odd .
inteaer is 88. Determine the -

+wo mtegess.

The Som of e squares
of fwo consechive inegers,
s 85, Whal are He infegers!

® Havry mvests $22,500,
part at 1% and part «F
5%, He earns exo\c,Hj
Twice as much Trom the
59 Investment. tow much
did e invest at 5% and
how much 1nterest dud he
earn af That rate ¢

Jock. invests 13,300, part
o 3% and powt o Ho%b.
He earns exaciiy $100 more
From the 4% mvesiment:
Hoo wuch aid he invest ot
10/ anch how much intevest

dd he. earn o that- rate?




© How much water most be
evaporad‘ec\ﬁam 304 of
a 50% salt solution Jo
b ng the conceniration
of satt-updo 0% <

How much SaH- should be
added fo 204 of a H0%
salt solution o raise Yhe.
Concentradion of oIt Lp
o 75% <

D@Y\nﬂ leaves home nding
s bieycle ab b mph. Onc
houe {ater, Blan starts
Nding from e same
locatTon at™ Omph. How
long will 7 Jake Alan Jo
cofeh yp to Denny ?

Michagl leaves 4o nert
at 2200 dyiving HOmph on Ms
Way home . ths brother
Jecmaine. leanes home
and Shvrts drving fo The
Concert hatl 20 minutes
lafes dnving ait 30 mph,
IL4ne anery hallis
1IR5 miles trom howe,, at
whaot-Fime will +they meet?

Riding a bicycle with fhe
wind, takes 3 hoves to
tranel 4g miles. Aganst
The wird, - wovd Take fuice
as long. What 1s+he vate

- of the wind 2

T+ takes three hows for a.
o Jo fravel 48 miles down-
shream and, an houy longec
Jo make the Same frip wp -
Sheam. Whad s The. tafe of

+he covert?

@ Adding a untom Snip all fhe

wouy anerd an 8 by 10 oot
dea::jh adds 63 H% 4o its
aren. How wide is The shrip ¢

Ardding & untform strip all
+he. i anrund a 6 b;r) 12
foot garden odds ¥ €12 1o
s dea. Bow wide a shrips

(9 Joan can clean +he car in
20 mingtes. MNelissa ¢an do
the same job Jn )2 minvtes.
How long aould & Take Them

i They work Together £

John can vash he dishes in
20 minutes. Working ef
with Savah, 1+ akes Them
(§o m‘nu“'e‘s ""(‘)'ﬁh\&h- "H'OUO
long woold 1+ fake Savah 1o
woihthe dishes hexself ¢

ONL®? JON WOULP CARRY
ARQUNDP THE PICTURE OF THE
GIRL THAT CAME WITH
(o) THE WALLET




